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I. MCQ WORKSHEET -INTEGERS
Read the questions and select the correct answer from the following:
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. In addition and subtraction of two integers . sign of the answer depends upon
(a) Smaller number (b) Their difference

. Sum of two negative number is always

(a) Positive

. Sum of two Positive number is always

(a) Negative

. Sum of — 36 and 29 is
(a) —65

. Sumof —19 and -21
(a) —40

. Which of the following statement is false:

(@) -7 + (6) =
@8 +(-9)=-1

Q7. The pair of integers whose sum is —5

b 1.4

(c) Their sum

(d) Greater numerical value

(b) Negative ©0 @1
(b) Positive ©1 @o
(b) 65 ©-7 @7
is
(b) 40 ©2 @ -2
-13 ) -5 +1=4 ©2+ (1)=1
® -1.6 (© 3.2 (5.0

Q8. What integers or number should be added to —5 to get 4

(@)1

() -1

() -9

@ 9
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Q9 . What will be the additive inverse of —5

@ -6 () 4 ©3 @ s
Q10. What will be the additive inverse of 7

@ -7 ) -6 (©) =5 @ —4
QL1. Predecessor of -9 is

(@ -8 ) 8 (© -10 @10
Q12. Successor of —11is

(@) -2 ®)0 @© 1 @ 2
Q13. The value of 6 — ( —3)is

@ 3 ) -9 © -3 @9
Q14. The value of 26 — 30 is equal to

(@) 4 ) 4 () -56 (@) 56

Q15. Which of the following statement is true
@7-4=4-7 7T -4>4-7 (@7 -4<4-7 ()7 -4=-3
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1. Write the opposite of each of the following:
(i) Increase in class strength (i) going north (i) A loss of Rs 1000

2. Indicate the following bg integers:
(i) 25° above zero (i) 5° below zero (iii) 300m above the sea level
(iv) 250m below the sea level (v) A profit of Rs. 2000

3. Represent the following integers on number line:
on-4 @7 (ii) -8




